S100 U~_|

Vis TH M8x25

+ Rondelle plate @8

+ Ecrou M8

(Screw M8x25 + flat washer @8

+ Nut M8) . R .
Chemin de cables tble

(Cable tray)

Pendard UFL_/
(Bracket UFL)

Vis TH M8x25
+ Rondelle plate @8
+ Ecrou M8
(Screw M8x25 + flat washer @8
+ Nut M8)

hemin de cables fil

25

50 50

m: % LY C L e

32

N> |
N
50 50 45,5

M Weight Ep./Th. H l./w. =

Description Code asse/Weig P/ fw
Kg/p mm mm mm daN

UFLP-1013 750030 0,317 2,00 120 165 130
UFLP-1513 750031 0,377 2,00 120 215 108
UFLP-2013 750032 0,469 2,00 120 265 86

SS316L : Stainless steel according to NF EN 10088-2 (316L).
13 : Téle d'acier inoxydable suivant NF EN 10088-2 (316L).

CONSOLE UFLP I3
BRACKET UFLP SS316L

(Mesh tray)
ASSISTANCE TECHNIQUE
+33 (0)1 559592 17
pole.technique@niedax.fr N I E DAX
www.niedaxfrance.fr FT02062 F r a n C e
6 | 5 | 4 3 | 2 | 1

4




